BHZHEA Linear Module SHB-060-200.0

Ltotal Length=LstroketLcarra

getlsafety Stroket176

BRE=-HYITIRIBRKE+REITIEHT6

76

80

1#68Y2(5) Example : SHB-060-300.1-500-1006-SA-FA-MC-000

Note: all the measuring units are mm

145
M\ /9_4;_3 85
axmex12]| TS| o
0 354 o I8
i %i =3 = [
K =
7NN
200 End Plate
130 12.5 ISk IEE R
I #16h6 67
©® |; © ©|P o © o) ) 4*%M6
i I 2 [ o o E[
1 Tl e © F © © il o
8 ; 8*M8*12 M ol
430.2 470.2
90*0.2
FARZSH Technical Data PEhEE Products weight
e NIHEE maximum Speed : 5m/s
e R Ini#E E maximum Acc: 25m/ss FATIEE &
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 5.7kg
22 %45 No-load Torque: 0.9Nm
& K$7 J7ymaximum Force Fx : 1150N 100mm TR & &
A5 7 % % Belt Width : 25mm 100mm Stroke Weight:  0.40kg
44714 Stoke per Revolution: 130mm
B AH N maximum input torque:  17Nm
& X472 maximum Stoke: 6000mm
K ELHE /1 Capability
Fz % 71(N) Force (N)
Fx(max) 1150
Fy(max) 2500
Fz(max) 1600
I EESEsE Moment(Nm)
Mx(max) 43
My(max) 120
Mz(max) 170
1] 5212 B, Order Information
SHB | XXX CAL DRM STK TTL SA FA MM 000
5 S | BRKE | Rl BRE | BARK iR S BESR EHRS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
L 40 FiEStd .0 e tfEStd  SA | 4RfE Std  FA | FREStd MA 000
SHATE/C/0/ 100600 | DN3ERen.1 | 100-6000 | Calculation By  #EStd Hole SO | %57 Special FB | {3 Side MB e
E/F/G:- . . MER%Ecarriage Mountini
90 Drawing 45l Special  SS MZ 2



BHZH A Linear Module SHB-060-300.0

Ltotal Length=LstroketLcarragetLsafety Stroket176

BRE=-HYTEIBRKERLITIENT6

76

80

145

1465805445 Example : SHB-060-300.1-500-1006-SA-FA-MC-000

$59. 4 /@ig 85
W) — 3
- 1T X 1T ) @ —
| == gl [o5 2 %q
300 End Plate
130 12.5 IR SRR
[ | <
. "B = T s
©® = ©® [
o o @ @ !
78 L | 88
90°0. 2 90+0. 2 90+0. 2 8*M8*12
FARZSH Technical Data PEhEE Products weight
e NIHEE maximum Speed : 5m/s
e R Ini#E E maximum Acc: 25m/ss FATIEE &
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 7.2kg
22 %45 No-load Torque: 0.9Nm
& K$7 J7ymaximum Force Fx : 1150N 100mm 17 FEE &
A5 7 % % Belt Width : 25mm 100mm Stroke Weight:  0.40kg
44714 Stoke per Revolution: 130mm
B AH N maximum input torque:  17Nm
& X472 maximum Stoke: 6000mm
K ELHE /1 Capability
Fz 7 71(N) Force (N)
Fx(max) 1150
Fy(max) 3100
Fz(max) 2200
I EESEsE Moment(Nm)
Mx(max) 54
My(max) 180
Mz(max) 250
1] 5212 B, Order Information
SHB | XXX CAL DRM STK TTL SA FA MM 000
F5 | AR | ARKE | BaXE  BROE | BARK iR B ZEHR E5RS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
FrfEStd .0 EFitE FREStd SA | iRk Std  FA FRfE Std MA 000
SHA/B/C/D/T™ 60 | 100.600 | DO3&Ren.1 | 100-6000 Calculation By | #EStd Hole SO | 45l Special FB | i3 Side MB XXX
E/F/G-- 90 Drawing #58E S a10Ss /R R $carriage Mounting |
E pecia MC

Note: all the measuring units are mm



BHZH A Linear Module SHB-060-300.1

LTotal Length=LstroketLcarragetLsafety Stroke+176

BRE=-BRUTIEHBRKE+ REITIE76

76

80

280 268
968
KMB* { ) 8
wexie | R[] &
o %\ o |
f = [
2| =
300
: 148 15
i = !
© ()"
°0® = e
©® 2 ©®
© @If
78 = ' 88

4xN8*12/ | 90:0.2

FARZSH Technical Data

15

End Plate
s20n6 . S Sk IR
NS 67
4*M6
0 51
L‘G o1
il o

PEhEE Products weight

e NIHEE maximum Speed : 5m/s
B AN maximum Acc: 25m/ss FITHEE R
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 11.2kg
22 %45 No-load Torque: 1.1Nm
% K47 Jymaximum Force Fx : 2100N 100mm T8 E &
A5 7 % % Belt Width : 50mm 100mm Stroke Weight:  0.40kg
44714 Stoke per Revolution: 200mm
KM N4 maximum input torque:  60Nm
% KAT7FE maximum Stoke: 6000mm
K ELHE /1 Capability
Fz 7% /1(N) Force (N)
Fx(max) 2100
Fy(max) 3100
Fz(max) 2200
] ) 25 Moment(Nm)
Mx(max) 54
My(max) 180
Mz(max) 250
1] #21g B Order Information
SHB XXX CAL DRM STK TTL SA FA MM 000
5 MR | BRKE | RaXE  BERTE | EERK iR B REBR EHRS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
. S tREStd .0 EFitE | EStd  SA | fRESd FA | {7 Std MA 000
SHATE/C/0/ 100600 | DN3ERen.1 | 100-6000 | Calculation By  #EStd Hole SO | %57 Special FB | {3 Side MB e
E/F/G- — . N /iR & carriage Mounting
9 Drawing 56l Special  SS MC
1#68Y2(5) Example : SHB-060-300.1-500-1006-SA-FA-MC-000 Note: all the measuring units are mm



BHZHA Linear Module SHB-060-400.1

LTotal Length=LStroketLca

agetLsafety Stroket176

BRE=-FHITER t?&iﬂﬁw:%n&ﬂ%

3¥M8*16

980

55
100

76

J.

80

145
125

oo

15

400 End Plate
(SR ) #20h6 m ° ﬁﬁ"ﬁ%;ii?%ﬂ&
o " < / l -L 406
ere) = @® o
®® ”:’ ©® ﬂ s n E
78 © — ©I'r 88 L[]L] “’1 ) )
6*M8*12/|.90:0.2 | 90°0.2
FARZSH Technical Data PEhEE Products weight
e NIHEE maximum Speed : 5m/s
B AE & maximum Acc: 25m/ss EITHEE
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 12.6kg
22 %45 No-load Torque: 1.1Nm
5 K47 /ymaximum Force Fx 2100N 100mm 17L& &=
A5 7 % % Belt Width : 50mm 100mm Stroke Weight:  0.40kg
44714 Stoke per Revolution: 200mm
KM N4 maximum input torque:  60Nm
5 KATFE maximum Stoke: 6000mm
K ELHE /1 Capability
Fz 7% 71(N) Force (N)
Fx(max) 2100
Fy(max) 3100
Fz(max) 2200
A 1) 25 6 Moment(Nm)
Mx(max) 60
My(max) 240
Mz(max) 325
1] $212 B Order Information
SHB | XXX CAL DRM STK TIL SA FA MM 000
R | IR | BRKE | GarE  BRORE | BESK i SE i REBT BHRS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
. S tREStd .0 EFitE | EStd  SA | fRESd FA | {7 Std MA 000
SHATE/C/0/ 100600 | DN3ERen.1 | 100-6000 | Calculation By  #EStd Hole SO | %57 Special FB | {3 Side MB e
E/F/G- : . R % carriage Mountin:
90 Drawing 154 Special  SS ME 2

1#68Y2(5) Example : SHB-060-300.1-500-1006-SA-FA-MC-000

Note: all the measuring units are mm



BHZHEA Linear Module SHB-060-500.1

LTotal Length=LstroketLcarr

agetlsafety Stroket176

BRE-BYTIEARKERLTIENT6

980

76

145
125

80

3*MB*16 ( I
] | =11 { RE=4 ‘{
Ve __/oA
500 E.:d Plate
148 .5 $20h6 © i Sk ERERR
! = | —.1—'« 67
© o L 4%M6
©® > - : )
0® o - 3 E[
) @If o | o
78 —T 1 88 il ml
6XM8*12/ 117.5%0. 2 117.5%0.2

FARZSH Technical Data

FEELEE Products weight

e NIHEE maximum Speed : 5m/s
e R Ini#E E maximum Acc: 25m/ss FATIEE &
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 14.0kg
22 %45 No-load Torque: 1.1Nm
B K Jymaximum Force Fx : 2100N 100mm {TFEE &
A5 7 % % Belt Width : 50mm 100mm Stroke Weight:  0.40kg
44714 Stoke per Revolution: 200mm
KM N4 maximum input torque:  60Nm
& X472 maximum Stoke: 6000mm
K ELHE /1 Capability
Fz 7 71(N) Force (N)
Fx(max) 2100
Fy(max) 3100
Fz(max) 2200
A 1) 25 6 Moment(Nm)
Mx(max) 65
My(max) 300
Mz(max) 400
1] 5212 B, Order Information
SHB | XXX CAL DRM STK TTL SA FA MM 000
RE | M8 | BRKE | haXE  BRTE | BARK iR S BESR EHRS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
.40 bEEStd .0 ETitE frfEStd  SA | #RE Std FA | #RAEStd MA 000
SHATE/C/0/ 100600 | DN3ERen.1 | 100-6000 | Calculation By  #EStd Hole SO | %57 Special FB | {3 Side MB e
E/F/G:- . . RRR Ecarriage Mountini
90 Drawing 154 Special  SS ME 2

1#68Y2(5) Example : SHB-060-300.1-500-1006-SA-FA-MC-000

Note: all the measuring units are mm



BHZHE A Linear Module SHB-060-400.0

LTotal Length=LstroketLcarrag

etLsafety Stroket176

BRE=BHITEIBRKE REITIENT6

76

80

145
$59.4 ®48 85
4¥M6*12 / “" o
= |%‘ g (o[ T 7o) .
Py ©
o2\ 2\
400 End Plate
130 12.5 i%é&i%}%i?&
L { #16h6 ™ 67
" © °° © 6 4¥M6
@O 9-‘ @O _
°° d @ o O > © K o e E[
78 ! U 88 mT
90%0. 2 90*0. 2 90+0. 2 90%0.2 10%*M8%12
FARZSH Technical Data PEhEE Products weight
e NIHEE maximum Speed : 5m/s
e R Ini#E E maximum Acc: 25m/ss FATIEE &
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 9.0kg
22 %45 No-load Torque: 1.1Nm
& K$7 J7ymaximum Force Fx : 0.9N 100mm 17L& &=
A5 7 % % Belt Width : 25mm 100mm Stroke Weight:  0.40kg
44714 Stoke per Revolution: 130mm
B AH N maximum input torque:  17Nm
& X472 maximum Stoke: 6000mm
K ELHE /1 Capability
Fz 7 71(N) Force (N)
Fx(max) 2100
Fy(max) 3100
Fz(max) 2200
A 1) 25 6 Moment(Nm)
Mx(max) 60
My(max) 240
Mz(max) 325
1] 5212 B, Order Information
SHB | XXX CAL DRM STK TTL SA FA MM 000
%5 B | BRKE | BaXE  BNTE | BARK iR S BEST EHIRE
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
. S tREStd .0 EFitE | EStd  SA | fRESd FA | {7 Std MA 000
SHATE/C/0/ 100600 | DN3ERen.1 | 100-6000 | Calculation By  #EStd Hole SO | %57 Special FB | {3 Side MB e
E/F/G:-- . N /iR & carriage Mounting
9 Drawing 56l Special  SS MC

1#68Y2(5) Example : SHB-060-300.1-500-1006-SA-FA-MC-000

Note: all the measuring units are mm




BHZH A Linear Module SHB-060-500.0

LTotal Length=LStroke+Lcarrag

etlsafety Stroket176

BRE=BYITIEARKE+RLITIEH76

76

80

145
$59. 4 $48 85
4xm6%12 | )—N 3
)| Q < 0 :’ -
== =N {[im%‘=@°. e] o
& a1 ©
[N
500 End Platte
130 UmSkiERERR
| | <~
o P16h6 67 -
©® o > 9 ©® © © M
00 “:’ o " e - { E[
© o s | g
78 I || -
117.5%0.2 117.5%0.2 117.5%0.2 117.55%0. 2 N '
10%M8*12
FARZSH Technical Data PEhEE Products weight
e NIHEE maximum Speed : 5m/s
B AE & maximum Acc: 25m/ss EITHEE
HEENNEE: Repeatability: +-0.05mm  Zero Stoke weight: 10.4kg
22 %45 No-load Torque: 1.1Nm
% K$7 J7ymaximum Force Fx : 0.9N 100mm 17 F2HE &
A5 7 % % Belt Width : 25mm 100mm Stroke Weight:  0.40kg
44714 Stoke per Revolution: 130mm
B AH N maximum input torque:  17Nm
5 KATFE maximum Stoke: 6000mm
K ELHE /1 Capability
Fz 7% 71 (N) Force (N)
Fx(max) 1150
Fy(max) 3100
Fz(max) 2200
] e 25 55 Moment(Nm)
Mx(max) 65
My(max) 300
Mz(max) 400
1] #2122 Order Information
SHB | XXX CAL DRM STK TIL SA FA MM 000
R | IR | BRKE | GarE  BRORE | BESK i SR REBT BHRS
Series Size L Carriage*N | Drive Mode | Stoke Total Length Shaft Input Flange Mounting Special NM
.40 bEEStd .0 ETitE frfEStd  SA | #RE Std FA | #RAEStd MA 000
SHATE/C/0/ 100600 | DN3ERen.1 | 100-6000 | Calculation By  #EStd Hole SO | %57 Special FB | {3 Side MB e
E/F/G:- : 5 TR % R carriage Mounting
9 Drawing 56l Special  SS MC

1#68Y2(5) Example : SHB-060-300.1-500-1006-SA-FA-MC-000

Note: all the measuring units are mm



